PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
8th September 2016, 02:00 PM
Topic:- Chemistry
1)
Question Stimulus :-

What is the molarity of H,SO4 Solution, Contains 9.8 gram H,SO4 in 2 liters water- /

H,S0, ¥ T® Hid, forad 9.8 UTH H,S0,, 2 dex &a | ¥aT §, &I Hiard 8-
e 0.1M
e 0.005M
e 0.01M
e 0.2M
Correct Answer :-0.005M
2)
Question Stimulus :-
On heating C;H5ONa and C,H5Cl gives- / C;H5ONa 4T C,H5Cl B T HIH W 9T g &-
e ether/ @R
* ethyl alcohol/ By sraiga
e acet aldehyde/ Udic Tafsgrss
® acetic acid/ Q‘x‘ﬁﬁﬁ A+
Correct Answer :-ether/ W
3)
Question Stimulus :-

For which of the following compound the Lassaigne’s test for N will fail- /Fefafea v Q
DI AT FIfrE N BT a9+ aieor 31 ¥ awa T8 8-

e NH,CONHNH,.HCI

L4 NHzNHz.ZHCI



* NH,CONH,

* CgH5N=N-CgHsg
Correct Answer :-NH;NH,.2HCI
4)

Question Stimulus :-

Cell reaction is spontaneous when- / 39 3ifufspar wa: ghft, v9-
o EO .4 is positive/ E® oq YFITH® BT
« 4GO is negative/ 2G° mumr@® @
e EO, .4 is negative/ E® .y HUTHS BN
e 4GO js positive/ 2G? s=re® g
Correct Answer :-“G? is negative/ G0 Fuma® g

5)
Question Stimulus :-

The Laughing gas is- / 3T i 8-

 Nitrous oxide/ ATScH HFATES

Nitric Oxide/ Tgfe® TS S

* Nitrogen trioxide/ H‘IE’@T:F-T §1§GT\I'T=R‘I13'3

* Nitrogen pentoxide/ H‘@Wﬁﬂéﬁ'ﬂ'\‘l@
Correct Answer :-Nitrous oxide/ -ITSeH ATRITSS

6)
Question Stimulus :-

Variation of heat of reaction with temperature is known as- / a9 & I1¥ fUferar 1 SHoaT
A ufrad @1 oga §-

e Vant Hoff's equation/ 3= g% GHIHIUI
e Henderson'’s equation/ 8839 JHIHIUT



e Vant Hoff's isochore/ < &% &E?ﬁﬁ?

e Kirchhoff's equation/ fv=w gHiewzor
Correct Answer :-Kirchhoff's equation/ f&3w IHi®r
7)
Question Stimulus :-

The family of elements with the highest ionization enthalpy is- / dadl &1 uRarR gt
ST SHolt Jaifie® gl 3-

alkaline earth metals/ &TRa qar u1g

halogens/ %?ﬁ\_:F-[
noble gases/ m'ﬁﬂ

* alkali metals/ &g o1g

Correct Answer :-noble gases/ 3&W 19
8)
Question Stimulus :-
Reaction 2H,0, ~ 2H,0+0, is- /2H,05, ~“2H,0+0, 3ifufyar g-
e Zero order reaction/ YA Hife fUfpar
* First order reaction/ W4H ®ife Srfifpar
e Second order reaction/ fgdia ®ife arfforar
® Third order reaction/ ?Rﬂ'q Pife srfuferar

Correct Answer :-First order reaction/ WYH &ife arfyfrar

9)
Question Stimulus :-

Which of the following compound is more acidic- / fA=faf@a Afrer A gmaffye srsda 8-
e Phenol/WIATd

e O-nitrophenol/ O-W@'Clﬂ:ﬁ?r



e P-nitrophenol/ P-ATSgIBIATA
e m-nitrophenol/ m-AIggIBHA
Correct Answer :-P-nitrophenol/ P-ATSgIwiATd

10)
Question Stimulus :-

Acetylene reacts with water in the presence of ng"' and acidic medium to give- /

wHifeehta & shfufspar 19 Hg2+ &) SufRufa & iR srefia wTeaw & SIS wT<dl 8 o) ure giar @8-

° ethanol/ﬁ?)T-IVTFf

e ethanal/ B399

e ethane/ B9

° propanal/tﬁﬁ?ﬁ
Correct Answer :-ethanal/ 839d
11)

Question Stimulus :-

The tendency towards complex formation is maximum in- / d$d FAH BT HaT Jatfus

gl 8-
e S-block elements/S- =il dal A
®* p- block elements/ p- e dal |
e d-block elements/ d- SI® d@l &
e None of these/3TH q HIg g}

Correct Answer :-d-block elements/ d- & d@l &

12)
Question Stimulus :-

On 1 atmospheric pressure which solution has maximum freezing point- / &9 fdaaa @1

fewi® 1 arguvsd g WR ifiwad gim-
e 0.1 M Nacl

e 0.1M BaCl,



* 0.1M Sucrose / 0.1M ‘{lﬁﬁ
e 0.1M FeCl5
Correct Answer :-0.1M Sucrose / 0.1M B

13)
Question Stimulus :-

During roasting of Zink blende, it converts to - /f5® AUE! & HelH & Fawa=yq 98
: SR gfvafda 8 wrar 81

e ZnO

ZnSO4

ZnCO3
e Zn
Correct Answer :-ZnO

14)

Question Stimulus :-

Which of the following is leuis base- / fF=fafad & ¥ #1991 TEI &R 2-
e AICI5
* Ag
e AI(OH)3
° NHj3
Correct Answer :-NH3

15)

Question Stimulus :-
AH for the combustion of a compound is-/m‘-ﬁ qifres & qod & ﬁm AH EﬂTIT-
® positive/ YATHD

* zero/ YU



* negative/ BUMTHD
* may be positive or negative/ YATHD T BUTHDP

Correct Answer :-negative/ BUITHD

16)
Question Stimulus :-

Which of the following is not correct resonating structure for CO, - / freafafea o 9 CO,

H B A AT I3 T 8N -

0=0C=0

0-c=0*

gr—c=0*%

ort=c—0-

+ _r=pt
Correct Answer :-° c=0

17)
Question Stimulus :-

The Value of orbital angular momentum for an electron in 2S orbital is - / 2S

PP P A b T H&P BN Ty BT A gIT-

. 3 Ji+1)

f

vl

(o]
gl
B

h
7 [1(1 + 1)]

. JI+ 1)

Correct Answer :-

S+ D)

18)

Question Stimulus :-



Chloroform on treatment with alcoholic KOH and aniline gives- /Wﬁﬁ'q?lﬁ CARC|

SThIgad KOH 3R Tl & a1y Srfirgpd H_rar wIrdT @ of Wie g 2-
e Phenyl isocyanide/%fad AMEAATSATES
* Phenol/BIHTd
* Cyanobenzene/dTsAl a1

e None of these/ 399 ¥ ®Is gl

Correct Answer :-Phenol/®HTd

19)
Question Stimulus :-

The Oxide which gives H,0, on treatment with dilute acid is - / JATFTSS it aq & & A1y
3fUPpd P W H,0, T 3-

e PbO,

* Na,O,

e MnO,

* TiO,
Correct Answer :-Na,0,
20)

Question Stimulus :-

In a solution pH and pOH at 298K is equal to - / 298K WX qa?ﬁa‘q-—rff pH MR pPOH SRTdR

gIdT 8-
° zero/?]?las
° 14/ 14%
* infinity/ 3Ad
e a negative number/ TH BUTHS TSI &

Correct Answer :-14/ 14 %

21)



Question Stimulus :-

Ozone can be tested by- / 3iSi &1 uf¥eur foar S Jedr 8-
* Ag/ Ag &I
* Hg/ Hg &1
® Zn/ Zn gRT
* Au/ Au gRT
Correct Answer :-Hg/ Hg gRT
22)

Question Stimulus :-

When the temperature is increased surface tension of water- / SId dIU dgdT SITdT %?ﬁ ofd
P oS d19 -

° increases/a%?lT%

e decreases/ Uedl @

®* remains constant/ RRr Yedl %

e shows irregular behavior/ Sfrafira srgsR welkia &rar %

Correct Answer :-decreases/ 9cdl %

23)
Question Stimulus :-

The mixture of MgCl, and MgO is called- / MgCl, 3R MgO & firyor & vad % -
e Sorrel’s cement/ R4 dHe
e Portland cement/ Udavs dtHe
e Alum/ firesdt
* Magnesium Oxychloride/ A Rrm Gﬁ'ﬂ'\‘ﬁﬁﬂﬁ
Correct Answer :-Sorrel’s cement/ IRd dH¢

24)

Question Stimulus :-



. 111[',5?1 . . . 111['!5?1
An isotope of " contains 68 neutrons. What will be its mass mumber- / & &

TS HARTS § 68 Y § O SHD! ZoqHT H&AT gRil-
e 119
e 118
e 112
e 50
Correct Answer :-118

25)
Question Stimulus :-

In MgCl, the Oxidation number of Chlorine is-/ MgCl, H TR B STRIHIT T 7-

o +1

® Zero /W

Correct Answer :--1

26)
Question Stimulus :-

The geometry of IF is/ IF, &t wTfifa -
e Pentagonal bipyramidal/daysita fgaftRifista
* Trigonal planer/ ﬁ'ﬁﬁﬂ'q LECEIR
 Trigonal bipyramidal/ Py feafiRfadta
* Octahedral/ <CHEAD
Correct Answer :-Pentagonal bipyramidal/ti?nﬁﬂ'q ﬁﬂﬁﬂﬁlﬁ'ﬂ

27)

Question Stimulus :-



Which one of the following is strong acid- / =1 #q BT TP U9 3 gTT-
e P-chlorobenzoic acid/ P—mﬁﬁﬁm
e P-Hydroxybenzoic acid/ P-gISgIdl a~iIg® 3
e Benzoic acid/ aﬁﬁw 3T
* P-Nitrobenzoic acid/ P-=I'I's'@3r ds® o
Correct Answer :-P-Nitrobenzoic acid/ P-T-IE?[ ﬁTrﬁW 3T
28)

Question Stimulus :-

The Composition of gun metal is- /79 Hcd &1 Y°e gl 8-

Cu(60%), Zn(20%), Ni(20%)

Cu(88%), Zn(2%), Sn(10%)

Cu(90%), Zn(2%), Sn(8%)

Cu(28%), Fe(2%), Ni(70%)

Correct Answer :-Cu(90%), Zn(2%), Sn(8%)
29)

Question Stimulus :-

HgCl, on reaction with stannous chloride gives- / HgCl, , g ﬂ?ﬁ?ﬁ%’ T fopar S g1l

2-

* Hg

e HgO

* HgSnCl,

® HgCl,.SnCl,
Correct Answer :-Hg

30)

Question Stimulus :-



The state of iron in which percentage of carbon is maximum- / die ¥ 98 srawyT foraw
FIa B fa=d 71 99 U 3-

* Wrought iron / ﬁEﬂTFﬁBT

e Cost iron / gd@ai @lgl

* Mild steel / {g Id

e Medium steel/ HHH gATd
Correct Answer :-Cost iron / @di @gl
31)
Question Stimulus :-

The value of k for a first order reaction is 7.39x 107> second ~! then half life of reaction

is- / U UYH Pife fufspar & fog R fRRTP k &1 A1 7.39% 1075 He -1 g ot srfufspar o1 aref
STYPTe B -

e 98.8 seconds/ 98.8 Jbs

e 90.77 seconds/ 90.77 ¥

e 9377.53 seconds/ 9377.53 §&s
e 739 seconds/ 739 &S

Correct Answer :-9377.53 seconds/ 9377.53 B3 [ XA

32)
Question Stimulus :-

The Reaction in which alkyl halide is converted into alcohol- / TfePpd 8ATSS &I Uehigid A
uf¥ufda o<1 &1 fopar -

e Addition reaction/ arTar® ffufesar

* Substitution reaction/¥fawura= srf¥foar
e Dehydrogenation/fagIsSIa-I®HRUT

° Dehydration/ﬁlﬁ?ﬂWUT

Correct Answer :-Substitution reaction/ufa=ra= rfufesar

33)



Question Stimulus :-

Which of the following is formed from acrylonitrile - / Tf$paATseEd | T4 8-
e Terelene/ e+
® Orlone/ 3iTat
e Bakelite/d%drsc
e Polyvinyl chloride/ Urdl a5 wRIgS
Correct Answer :-Orlone/ 3if@i

Topic:- Physics
1)

Question Stimulus :-

Torque of an electric dipole ? in a uniform electric field E is- / fagaa &= E & P amguf
e f3yd o= @ 9T 9 ST @

E

=1

x E

=15

.
® Zero/ ™
o ExP
Correct Answer :-b X E
2)

Question Stimulus :-

A minimum magnifying power of telescope is M. If the focal length of its eye piece is
reduced to half then its magnifying power will be - / Tt gre=it @t <g7aw smaeq ermar M
21 B! ABT B Bioage! el FX ¢ W IqB! e erar gt Srtt-

e M/2
e 2M
e 3M

e 4M



Correct Answer :-2M
3)
Question Stimulus :-

In one meter rod AB at end A the temperature is 100 € while at the end B the
temperature is 10 €. What will the temperature at a point away 60 cm from
point B- / T% HIex ddl 8 AB & Tdh R A T a7 100 © qyT gav R B &1 417 10
CXETH 21 ¥ B & 60 I g7 TS W a1Y gHII-

e 64°C
e 36 C
e 46
o 72°¢
Correct Answer :-64 ©

4)
Question Stimulus :-

If we have three capacitor with capacity 6 micro farod each, Fhen how mu_ch maximum
and minimum capacity we can achieve - / 6 'Flﬁ'slﬁ'aﬂ?; & 19 Tarfva Suasy %, T &t Sl
& arelt gAaH 3R Srftpaw ufvang @ -

o OUF,18pF
o JUF, 1ZuF
o 2UF, 12pF
o ZUF,18pF

Correct Answer :-2HF, 184F

5)
Question Stimulus :-

The path of an object moving by uniform velocity in two dimension will be - / fefaefa

nifa ¥ T GU AT | MfaHTag 1 9nt gt 3-
e Curved/ 9%Ig



e Circular/ gilg

e Hyperbolic/ IRATATHPR

e Straight line/ @ Y&
Correct Answer :-Straight line/ I3d 3&g
6)
Question Stimulus :-

If an electron and proton put in a uniform electric field, the ratio of their accerteration

will be - / T% Wl 3R T gAaeT U T fagaa &7 # T& oTd @1 3P @Rl BT 3rJuTd -
zero/ [

* one/ Tdh

* equal to the ratio of electron and proton masses/ 'Sailﬁ'—l 3R Iﬂg’ﬁ & SHAI &
JUT & RIS

e equal to the ratio of proton and electron masses/ W2l 3R SR & FHATH &
U & SRTER

Correct Answer :-equal to the ratio of proton and electron masses/ Eﬂﬁ:r 3R sﬁﬂﬁ'—l &
ST & JUTd & aRIER

7)
Question Stimulus :-

In P-type semiconductor, there is- / P-UBR & 3GdIa® § gidl -

* One more electron/T® FAdEI- BT MU

e One less electron/ T& sAgeid &I AUl
® One less atom/ wmaﬂ GI':[@I&[
®* One donor level/ T QIdl WX

Correct Answer :-One less electron/ T Saagi- &1 ulRAfd

8)
Question Stimulus :-

At a constant temperature, the pressure of gas increased by 5% then its volume

reduced by - / I 919 W &bt A9 F @ & 5% I F W ITF 3maa= A Ht gifi-



® 50

* 5.26%

® 4.26%

* 4.76%
Correct Answer :-4.76%
9)
Question Stimulus :-

Maximum energy of photoelectron is depend on - / UBIR - Eﬁﬂﬁ'—ﬁ 3 Sifymay et fAR
Heel 8-

e Intensity of light /Y& &I digal W®
* Frequency of light/U®TRI #1 g1 &R
e Intensity and frequency of light / YT &1 digar iR 3mafsr =

e Polarization of light / TSI & YAHI0T W

Correct Answer :-Frequency of light/Y&T=I &1 391 &)

10)
Question Stimulus :-
Mass of photon in rest- / faRTq H wield &1 SoauT 8-

hw

o -
e LV

hg

(] C

® Zero /YU

Correct Answer :-Zero / A

11)
Question Stimulus :-

Band spectrum is the property of - / Jus ?ﬁ?@'q SI&Ior %—



e Atoms/ URHTU[SA] BT

e Moleculars/ 3(U[3fi HT

®* Non crystalize solid/ 3ffeheeea 3l &1

® Crystalize Solid/ fopweetta a1l &1
Correct Answer :-Moleculars/ srqxsﬁ Cal
12)

Question Stimulus :-

If a body complete their revolution around R radius circle. Work done by centrifugal

force F will be- / Tf¢ T a¥g R 3541 a0 g & IR} 3R TP T Al &1 b=t aaf F gRT
forar w1 ol ghm-

2nRF

* 2RF
* RF
e Zero/ ™

Correct Answer :-Zero/ qd

13)
Question Stimulus :-

Earth complete its one revolution around the sun in one year. If the distance between
them increase twice then time to complete one revolution will be - / t{&ﬁ '\Tf & TR 3R

uag?nmqﬁaﬂﬁﬁwaﬁm%lmsﬂﬂ?aﬂaaﬁgﬂaﬁwaaﬁﬁvﬁwwmﬁﬁw
. 2year/ 2 ¥
e 22year/ 22 g
e 4year/ 4 T4
e 8year/ 8 af

B) B}
Correct Answer :-2V2 year/ W2 g

14)



Question Stimulus :-

Dimensional formula of work is - / 1 &1 farg qA %—
e MLT™Z
o MZLTZ
o MZIL72T

o ML2T2

Correct Answer :-ML'T™

15)
Question Stimulus :-
If same force applied on a wire, its length increased by 5 mm, if we take another wire
whose length and diameter are doubled and make with same material, how much
length of it increase by applying same force. - / T dR IR P dd T R IgH! ?IETsf 5
it wg wTelt 81 afy Seft erd & g AR Rt @aTs 7 o N B ) 39 Sl 99 @ TeH W der
# gf gril-

e 2.5 mm / 2.5 firft

e 5.0 mm / 5.0 fst

e 10.0 mm / 10.0 3t

e 40.0 mm / 40.0 fidt
Correct Answer :-2.5 mm / 2.5 fit
16)
Question Stimulus :-

Interference Phenomena is possible - / HfAHI0T Ht geAT UG %—
e Both in transverse and longitudinal waves/ U Td Gﬂ%‘a‘f Sl A o
e Only in transverse wave/ &ad aﬂmm’ﬂ’f |
e Only in longitudinal wave/ Fad Glﬂ%?ﬁ GERIR:]
* None of these/ Eﬁ 3 aﬁ‘é &l



Correct Answer :-Only in transverse wave/ $dd U a3l #

17)
Question Stimulus :-

The wavelength range of visible light is - / T USRI T dTeH - HH &7 8T 8-

o 107% m

1m
e 1077m
o 6X1077

-7
Correct Answer :-°* 107"y

18)
Question Stimulus :-

P-type of semiconductor will form by adding the following impurities - / P-U®R cg
rgarad! it =T rfex srafirgor Hv a9 e &-

° As
B
P
* Bi
Correct Answer :-B

19)

Question Stimulus :-

f
If the focaIEIength of camera lens 2¢ is 8 cm. Then the diameter of effective lens

will be - / 28 BRI A B BIHA g3t 8 AW 71 YUGHRI dF HT AR §HTI-
e 2.85cm

e 2.8cm

e 3.85cm



e 3.8cm
Correct Answer :-2.85 cm
20)

Question Stimulus :-

For a telescope the focal length of objective and Eye piece lenses is F and f. The

magnifying power of telescope will be - / Wwﬁa? fiegs 3R AT # view §ﬁ F
3R £ 31 e @t e grwar gft-

o F+f

e F-f
F

o [
f

o F

F
Correct Answer :-f

21)
Question Stimulus :-

The time period of freely hang magnet depends on - / WATATIA®P Tcdh §d IP BT gra-IdId
freE Rk exar g -

e the length of magnet/4a® &1 T W

e the polarity of magnet/Ja® & Yd UTacd W

* the horizontal component of magnet/ﬂﬁ?ﬂ'ﬂ a1 & &fast gep W
¢ the length of thread/%ITP[ &1 aars‘ R

Correct Answer :-the length of thread/ YTl ®I TaTg W)

22)

Question Stimulus :-

What is the relation between the focal length T of spherical mirror and radius of

curvature R ? / Tl gUor &1 Wiy gt 7 vd awar Bwar R § W9y giar -



. f=2R

* None of these/ sqﬁ 3 aﬁ'&" &l

Correct Answer :-} = 2f

23)

Question Stimulus :-

If critical angle is 45 than refraction will be - / 4f¢ Hifd® HIU1 45" § A1 Ugd-i®
HuIE

e 1
° ;|_/*~'JE
e 15
° 1414
Correct Answer :-1.414

24)
Question Stimulus :-

The direction of induction current determined by - / Uf¥d 4RT F} fa=m 319 # S<ht 2-
e Faradey’s law/H18 & fFraq @
e Lenz’s law/ oo & w3
e Maxwell’s law/ A59dd & fraw @
e Ampere’s law/ trfﬁm? & frram a
Correct Answer :-Lenz’s law/ 39 & fAgq 9

25)
Question Stimulus :-

An ice piece float away in jar filled with water. After complete melt of ice the water

lever will be- / % &1 TH ghsl TR T WX Ut A o) 8T 81 % & quia: frad 99 W ur-it &1 9a-



* increase/ JHUW IS

® decrease/ CIERRER]

e Remain same/ 3raf¥afdd @M

® Firstly increase then decrease/ ueﬁam B%'HT, 3 gem
Correct Answer :-Remain same/ 3af¥afda Igm
26)

Question Stimulus :-

An object is moving on circular path with acceleration ‘a’. If the speed of car increase 4
times then accerleration will be- / T&% fiUs gaT®R a1t W ‘a’ @vur A afqwr= 31 afe fivs #t
I IR T B & I O STDT @RT g1 TRT-

* 4a
* 8a
® 16a
°* a
Correct Answer :-16a

27)
Question Stimulus :-

If n small balls each mass m, elastically collide ona floar per second with velocity u
then force impact on a floar will be - / If¢ n B 73, UAP FT FHAT m, TH 90 R Ufd AHUS
TATR] U F u & A THRA 8, a1 ad W T 9 ghT-

e 1mnu
e 2mnu

* 4mnu

[

mnu
Correct Answer :-2mnu

28)

Question Stimulus :-



If an “~ particle have parallel motion in magnetic field then force experience by

it- / Tfe T ¢~ B AP &7 P FHIAR T B IGT §, &) SH U I -
e 2 Newton/2 e
e 0.2 Newton/ 0.2 e+
 Zero/ YA
* None of these/3H | B gl

Correct Answer :-Zero/

29)
Question Stimulus :-

Which of the following is long wave - / = & @ @t 937 A1 3t 8-
® Radio waves/ A a3
e Y-waves/ Y-f&rul
® Micro Waves/J&H aq
* x- Rays/ x-fpeor
Correct Answer :-Radio waves/ ¥f&al a3
30)
Question Stimulus :-

For at certain temperature the velocity of sound in Oxyzen (02) is 460 m/s then for the
same temperature the velocity of sound in Helium (He) will be (while Both gases

treated as ideal gas)- /mﬁmﬂmwmﬁ(ﬂz)ﬁwﬁaﬁwmo m/s %I sﬁ?qutR
BT (He) ® @fs &t o gft (ST A &1 3ime=f A9 91d §9) -

e 500 m/s
e 650 m/s
e 330 m/s
® 1420 m/s
Correct Answer :-1420 m/s

31)



Question Stimulus :-

When two sound waves superimpose, they produce beat, while - / Sid o safy a3

JARIYG gt 8 df favas 3@ 8id & STaf-

e Amplitude and phase are different/ I[P SATATH Td Hdl i 33[

e Different velocities / 3P A7 fu= s‘r

e Different phases/ 3! Famt fy= g

* Frequencies almost same/ RG] GIT?{RNT HIT HHTH s‘r
Correct Answer :-Frequencies almost same/ RG] Gﬂ?{ﬁﬂT THIT QTFIFTE?I
32)

Question Stimulus :-

In L-C circuit the normal frequency is- / L-C IRy ¥ w@ruifas &nqﬁr gIdl 8-

1 it
° ZTE*‘I

p—

1 /L

2 [C
Correct Answer :-

33)

Question Stimulus :-

The working of telephone mouth piece is depends on - / THAHI & ARYdT $t srdfafy
o= R smenfya 2-

* Heat - Electro Effect/ dTd fagad yuTq

* Photo - Electric Effect/ Y&T1 fagad yura



 Electro - magnetic induction/ fagaa ga®tg WRT
e None of these/ 99 & ®Ig gl

Correct Answer :-Electro - magnetic induction/ fagaa ga@ia wRur

Topic:- Maths
1)

Question Stimulus :-

. fla) x fla) _
1¢ 7% = then 70~ s R Y =i g s
o fl—a)
1
o7 G
o fla?)
—a
° f (a — ‘]_:]

Correct Answer :-/(@%)
2)
Question Stimulus :-

If the radius of circle ¥ 77" ~18x +12y +k =05 13 then * =7 / afd gm
x4yt -18x+ 12y +k =0 g eqr 11 8, a@ ¥ =7

e 347
e 4

—4

. 49

Correct Answer :- %

3)

Question Stimulus :-

-

&

= s - Z= __2-—.1
If 1+3 Then value of arg(z) is- / q-[% 1+3 qq arg(z) HTHE %-



2m

Correct Answer :-?
4)
Question Stimulus :-

If correlation between * and ¥ is 7, then correlation between » and * will be- /

gfe * 3R Y & g Yguwy " g, 99 ¥ 3R * & dI9 AgawY ghI-

Correct Answer :-r

5)

Question Stimulus :-

1 1 1 o
1+§+a+ﬁ+“'.......m—.

g4+ el

g—p1




Correct Answer :- Z

6)

Question Stimulus :-

d - .

—(xZe"sinx) =

dx

xe*(2sinx+x sinx+ xcosx)
ye*(2sinx +x sinx — cosx)
xe*(2sinx +x sinx+ cosx)

e None of these / §TH A ®I5 gl

Correct Answer Lxe¥(2sinx + x sinx + xcosx)

7)

Question Stimulus :-

@y ¥ _ 2 @Y _ e
Solution of &= = = is-/dr x = I gd &-
o dxv=x*+c
o X¥=x*+c
1
—xv=x%+
, po=xtte
o X¥=4dx*+¢
P gl
Correct Answer ;-7 =% +¢

8)

Question Stimulus :-
If "P5 =20."P;, then n=? / afg "P5 =20."P;, dd n=2-
° 4

8



* 7
Correct Answer :-8

9)

Question Stimulus :-

valy

oot x

J‘ e - .'—dx:
p veotx ++tfanx

= | A

s

Correct Answer :-4

10)

Question Stimulus :-
jx logxdx =

leE x2+
s logx——+c

- -
. r

—1 -—+
o 2 08 % 4 ¢

3 3
s r

Zlogx+—+
o 2 05 % 2 ¢

e None of these / 3790 q P13 a1

—logx——+¢
Correct Answer :-2 4

11)

Question Stimulus :-



—

COSAIX

j = dx =
Wi

e 2cosyx+c
e 2sinyx+c

e SiNyx+c

cosy/x + ¢

ba | =

Correct Answer ;-25invx+c
12)
Question Stimulus :-

Equation of * “axis is: / * ~31& BT AHIHII 8:

x_}-'_z
e 1 1 1
.‘X.'__].-‘_Z
e 0 1 1
:X.'__].-‘_Z
e 1 0D D
.'X.'__].-‘_Z
e 0 0 1

X

Correct Answer :-1

y_z
0 o

13)

Question Stimulus :-

- 5 _ 2 3 _ B . — 5 _ 4 3 _
The function ¥ — 5%~ ¥ 3" — 10 jg maximum, when * =’ / ®a_ ¥~ — 5" +3x° — 10 Ifarsg
g, &g X
4



Correct Answer :-1

14)

Question Stimulus :-

From a pack of 52 cards, two cards are drawn one by one without replacement. The
probability that first drawn card is a king and second is a queen, is - / 52 Ul Pt EEFT-IT!ZT?ﬁ
TS A A UH-Uh T &l U FIPTa ST 31 TSl U1 FHipTa=t & 91 919 =81 Famar Sirdm| a9 ugen et

TGRS Td GRT Ul 9 g4 &t Wi &-

e 2/13

* 8/663

* 4/663

* 103/663
Correct Answer :-4/663
15)

Question Stimulus :-

(a. )i+ (@)j+ (ak)k=1

e None of these / 394 d ®Ig 81

-+

Correct Answer :-%

16)

Question Stimulus :-

+5k

are coplanar then the value of p will be -



* 6
Correct Answer :--6

17)

Question Stimulus :-

d?s ?z ds 3
+3(=) +4=0
The order and the degree of the differential equatlon df*) (df)

d*=

respectively are: / 3G GHIHIUT (df*) 3 _:] =0 1 PR wd e wEw: E:
° 2,2
e 2,3
e 3,2
e None of these/ ¥ q &I g1
Correct Answer :-2,2

18)
Question Stimulus :-

In a single throw of two dice, the Probability of getting sum more than7is - / &l urgl &t
TP TR B R 79 AfUF IR ured H31 t uridiepn 3-

® 7/36
e 7/12
e 5/12
®* 5/36

Correct Answer :-5/12

19)
Question Stimulus :-

The formula “r;”mﬁf( ﬁx—f [(yo + 30 + 20 +y2) + -+ (¥ )] .

L5 f)dx = 2o + ) + 20 +372) + 4 (rny)]

is called - / A
PHEAdl 8-

i

« Simpson’s G) rule/Raaa &1 G) Pram



e Trapezoidal Rule/ S99 g

3

h
e Simpson’s (J rule/ R &1 G o
®* Newton’s formula/ <gcq T JA

Correct Answer :-Trapezoidal Rule/ SH&@W f-rgH

20)

Question Stimulus :-

The equation of the parabola with (=3.0) 35 focus and * T 5 =0 as directrix is - /

waey Rraet Ty T3 0 qur frgar © +° =0 @, &1 wfiexo 2-
. 2= 4(y+4)
o ¥i=4ly—4)
. V2= 4x+4)
. Y= 4(x—4)

Correct Answer ;-7 = x+4)

21)

Question Stimulus :-

The angle between the planes ¥ “ Y T2=6 gqnd *t¥*22=7 jg. ygAq@ ¥ ~ Y t2=6

3ﬁ1x+}-‘+22=?$@awg_

30"

Correct Answer :-‘W

22)

Question Stimulus :-



J‘ dx _
(x—x2)
logx— log(1—x) +¢

o log(l—x%)+c¢

—logx+logll—x)+c

o loglx—x3)+c

Correct Answer :-199 %~ log(1—-x) +¢

23)

Question Stimulus :-

The direction cosines of the line * =Y =7 are - / ¥@1* =V = Z %} fep wiwan 8-
1 1 1
o x-'IEJ N"IEJ x-'lg

11
'3'3

Wil =

e 1,1,1

e None of these / §TH A ®I5 gl

1 1 1
Correct Answer :-V3 V3 /3
24)

Question Stimulus :-

- dy - .
s=tan~! ==, then =X =? r=tan~! 2=,  dv _,
) 3 :
If ) atx dx / -q-% 4 atx aq ax
ros~1—
[ ]
—ros—12
[ ]
1
-1
— ros~1-
[ ] 2 a

e None of these / §TH A ®I5 gl



Correct Answer :-None of these /371 § $I§ gl

25)
Question Stimulus :-

If correlation coefficient is negative, then the regression coefficient is - / gfe ggawy

VT BUMTHP 3, T9 THTHIYT VNS ST
e Zero/[H
® One/Udh
®* Negative / BUITHSD
®* Positive / YTHSD
Correct Answer :-Negative / BUTHD
26)
Question Stimulus :-

If the area of the triangle with vertices (x, 0), (1, Dand (©2 js 4 square unit then a

valu_STﬁfxis-/qﬁﬂﬂﬁ(x’m’“’i}&ﬁ?m’z}mﬁﬁﬁﬁﬂ«ﬂm4a‘fsﬁlﬁa?-l'q'xa)‘rw
a4 -

. —2

. —4

. —6
8

Correct Answer :- 2

27)
Question Stimulus :-

The sum of first n natural numbers is - / T4H " YTHd JB13M HT TN 3-

nn—1)

n(n—1)
° 2

nn+1)



n(n+1)

n{n+1)
Correct Answer :- 2

28)

Question Stimulus :-

The angle between the lines 7 ~Y t3=0apd * ¥ 27 *3=0q: / e ¥@rait

2x—}-‘+3:ﬂaﬁ?x+2y+3=ﬂa;anaw%:
30°
45°
60°
e 290°

Correct Answer :-°0

29)
Question Stimulus :-

If sin A + cosec B = 2’ then sin?@ + cosec?f =7 / -qﬁ 5in 8 + cosec B = 2’ then 5in?@ + cosec?f =7

e None of these/ Eﬁﬁﬁ%qﬁ

Correct Answer -2

30)

Question Stimulus :-

=?

I’-.'llm

B

_ _ _ cos — =7 . _ _ cos
InﬂABC,a-iﬁ,b-Z%andc—Eﬂ’then /qﬁﬁﬂBCﬁ-a—iﬁ,b—Zf%&ﬁ? C_Eﬂ,?ﬁ

°
e | L



|

[ ]
ba | =

Wil =

3
Correct Answer :-4

31)

Question Stimulus :-

cosff  —sin

A= [cas & —5in a]
If Sina Ccosda

and simf  cosfl then the correct relation is- / dfe
_ [casa —sin a’] _ C?Sﬁ —sin
Singa  coSq \}ﬁq' sinff cosf 'aawwg[%‘-
o A2=PR2
o A+B=B-A
. AB=BA
« None of these/ F9H A ®IS gl

Correct Answer :-E =Ba

32)

Question Stimulus :-

3
The sum of two numbers is 15 and the sum of their recipr?cals is 12, then the

numbers are - / gl GBS &T AT 15 § T 3% gabHI &I I 10 3, 99 4 H&IH 3-
e 12,3
e 10,5
° 8,7
e 11,4

Correct Answer :-10,5



33)
Question Stimulus :-

(28 +3b) x (54 +7b) =

=) (=R
x *
=8 ]

(=TS
+
=21

74 +10b

= El
Correct Answer :-2* 2

34)
Question Stimulus :-

If sin"lx=0+8 and sin"ly =46 —ﬁ, then 1+ =? / afe sin"lx=0+8 3R sin"ly =48 —,ﬁ" a9
1+ xy=7_

sin?@ + sin® 8
sin’@ + cos?f
cos’@ + cos?f3
cos?8 + sin®f

Correct Answer ;-5in°% +cos°f



